* Rank 0 tensor.

[@]

Q=0
* Rank 1 tensor. * Rank 2 tensor (s).

Qee 0 0
0 0 Q-

Q:m: = 7Q1(11) + le)
Q.- =2Q5) + Q)

* Rank 2 tensor (a). * Rank 3 tensor (s).

O O QIZ‘Z

O 0 _QIIZ

0 0 0

0 Quy O
—Qyzy O 0

0 0 0

1 1
1 1
wa = *Gf(iac)y - Q,(fb)z
* Rank 3 tensor (a).
0 Quzy O
Qyzy 0 0
0 0 0
2
Qyzy = G(dz)y
* Rank 4 tensor (sss).

szzz szyy szzz 0
Qmmyy Qm:nmm Qma;zz 0

szzz szzz szzz 0
0 0 0 Qyzy=
0 0 0 0
0 0 0 0
Qa:z’wa: =

0

Qyzyz
0

szyy = 72@213 + QQEJB - Q(gl) + le)

szzz = 4(;1,) - QE]Q - le) + Q(sl)

Quzee = 4Q0) +8Q) +2Q0) + 20 + QY 4 20

Quoy- = QP — Q) — Q) + QP

Qayay = _QQz(fu) + QQSJB - Q!(Jl) + QEQ)

0
0
0
0

0
memy

—2Qp) —4Q4) — QG +208" + QY + 200

MPG No. 33.1.131 42m

(-4m2 setting)

[ Type I, tetragonal | [ tensor]



* Rank 4 tensor (ssa).
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* Rank 4 tensor (aas).
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* Rank 4 tensor (s).
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* Rank 4 tensor (a).
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* Rank 4 tensor (t).
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